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B field  calculation Finite element analysis  using ANSYS7.2

meshing

BAD

Results shown at the last meeting  was  wrong
 Geometry was  incorrect!  Rcoil was 1m  instead of 0.5m



Bsum



Magnetic field  around  TPC  region 
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Max. |Br| < 0.005 T  ( 0.4 % )
 for  TPC drift  region
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TPC drift region
r=0.57~6.3 cm 

δBsum < 0.001 T 

δBsum~ 0.016 T 

d|B| ~ 0.016 T  ( 1.3 % )
 if  ceter  is  aligned

        

B = 1.216 T  at  r=0, z=0
dB ~ 1.3%  z=20cm r=0~6cm 



Stray  Field  around  coil
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KEK-PS  East Counter Hall

We will set magnet here
K->pi0vv locate  ~20m away

5 m, 10 m, 15 m



Bsum at far region
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Max. Bsum  at  Z
  2  mT  @  5 m
  .3 mT  @ 10 m
  .2 mT  @ 15 m 

Max. Bsum  at  X
1.5 mT  @  5 m
  .2 mT  @ 10 m
< .1 mT  @ 15 m 

Bearth 0.06 mT



Bsum contour

Bsum = 0.01mT

Bsum = 0.1mT

Bsum = 1mT

Bsum = 10mT

Bsum = 0.1T



stray  field  at e391a < B_earth
 if we rotate coil w/ correct dir.


